
SP274T 0

第3図　リコイルスターター、電装品部

表示
番号

部品番号
（コード番号）

部　品　名 個数 備　考

1 842076 フライホイール 1 0
2 842199 ナットフランジ M8 1 0
3 842125 トーション スプリング 2 0
4 842079 キドーツメ 2 0
5 842200 ワッシャー φ5（5.5×12×0.8） 2 0
6 842220 スクリュー 六角穴付 M5×16 ロックタイト付 2 0
7 842068 ドーフーカバー 1 0
8 842342 リコイルスターターAsy 1 0
9 842054 ・セットスクリュー 1 0

12 842346 ・リール 1 0
13 842345 ・ロープ 1 0
14 842112 ・渦巻きバネケースAsy 1 0
15 842111 ・スターターハンドル 1 0
16 842055 ・ロープ抜け止め板 1 0
17 842152 スクリュー タッピング M4×16 3 0
18 842347 リコイルラベル SP274T 1 0
20 842901 ブランドラベル SHINGU 1 0
21 842325 点火コイル 1 0
22 842129 チューブ φ7×φ8.6×30mm 1 0
23 842044 スペーサー 2 0
24 842045 2次線グロメット 1 0
25 780129 スパークプラグ NGK BPM-7Y 1 0
26 842047 ターミナル 1 0
27 842048 プラグキャップ 1 0
28 842305 断熱チューブ l=50mm 1 0
29 842195 スクリュー ナベ M5×22 2 0
30 842130 リードワイヤ 1 0
31 842046 1次線グロメット 1 0

－3－


	11_03_08_SP274T.pdf-3.pdf

